Micro Bonng Holder BT / NT
T ZE R 18 J1 45 series

Weight
(kg)

-

Model No.
Features

A T30 ABH 15060 22 32 TR 40 50 | MIGk!.5P | 080

s i e e R 100 22 n | e | M a0 00 | MIGLSP| 070
ABH-3B {Fine) boring head ABH L 00 28 45 23 | 2 a0 Miza7sel om0
must be ordered separately, 120 28 45 23 24 1060 120 [M12c1.750)  o8o
S oo | o || 9| s e o
ABH-SB S IESE 5 SR dh ABHAC-0ED 45 8 | 40 | a8 a0 | Missr| 100
150 45 a3 | 4o | as 130 5o | Mimese| 140

ABHE 06D 7 a0 | 83 | 3 a0 | Mzszar| 180

150 70 a0 | 83 | &3 130 5 | Mamzor| 2.0

BT40ABH 15060 32 32 & | 24 35 50 | MIGel 5P| 120

_pEnAon | 22 32 @ | 24 | sses | soetoo | Mokl se| 1340

4 BH 22060 28 46 | 23 | 65 a0 |Mizet7spl 10

‘ 120 26 4 | 23 | a5 20 [Mizazse| 150
PEES-Fonng Head £4BH 30- 080 35 . | B | = 5% 80 | Mo | 140
DEA1E0 | 35 s | 30 | 38 | soros | 10530 [ Mis@or| 150050

ABHAD-DED 46 &y | 40 | am 3 a0 | Miszsr| 180

105 45 a3 | 4o | am &0 s | Mimase| 190

125150 | 48 a3 | 4o | g8 | 1ooe12s | 125050 | Mise se| 210240

A8 H-5 B50-0E0 3 73 53 | 53 55 a0 | Mzzesp|  1an

1BEA130 | 5s 73 53 | 53 | soetos | 105030 | M2 se| 220080

ABHEL 06D 70 % | B | & 55 a0 | Mzmzor| 2o

BSAS0 | 70 a0 | 83 | s3 | svizs | 105/150 | M25x2.0P | 280,70

BT50ABH 15060 32 32 & | 24 45 B0 | MGl G| 400

120 232 32 s | 24 A5 20 | Micse| 420

4 BH 23060 28 44 | 23 | 45 a0 |Miz17sp| 30

120 24 4 | 23 | A5 20 [Mimazse| 420

ABH 30-060 3% aa | W | . 45 an | Miszor| 40

1BE130 | 35 s | 3o | 38 | 7wes | 1o5a30 | Mis or| 420ma0

A BHAD-DED 46 sy | 4o | am 45 a0 | Mimzsr| 420

D125 | 48 83 | 40 | g8 | 7ovso | 1osa25 | Misxese | d.acso

15080 | 48 a3 | 4o | 48 | 1150145 | 1500180 | M1 sp| 5200540

A8 H-5 B50- 080 3 73 5y | %5 45 a0 | Mzzzsp| 40

DS | 55 73 g3 | 53 | 7wso | 105425 | M2z sp| 48010

5oEn | 5s 73 g3 | 53 | 1150145 | 1500180 | M22 5P| 57000

4BHE 06D 7 {30 | 8% | &3 45 a0 | Mzszop| 480

105 70 30 | 83 | &8 70 s | Mamor| 530

A5oiEn | 70 a0 | 83 | s& | 1150150 | 1500180 | M25x2.0P | £.70r7 50

_2BOrEI0 | 70 a0 | 83 | 88 | 185195 | 200/230 | M25x2.0P | 800840

ABHEL 060 40 150 | 83 | &3 45 a0 : 480

105 40 180 | &3 | s54 70 1635 : 5 &0

ASmE | 20 180 | &3 |sw®3| 115175 | 150/210 , 5 30H5 50

Urit: mm



BT / NT

saries

Features

= ABH {Rough or Fine)
ABH-5B {Fime)l boring bFead must
be oreered separately.

= YWi'hen ordering, please specity
the elrawe bolt weith inch size or
metric size.

« ABH {4H /A&FERE ) /
ABH-SE A& FE RS, S5 B8 0

= FERCFTRERT - AERE TR BRI
il

Beoring Range

Micro Boring Holder
4 SA RS 4B TD AT

PE4'E5-Eanng Head

Model No. Draw Bolt
NT30ABH1E0ED 22 32 18 | 24 | 7 | 80 | M10x1.5P
ARH 18100 22 32 18 | 24 | 118 | 100 | M10x1.5P
ARH 23080 28 4% 23 | 29 | 35 | 80 [M12x1.75P
120 28 4% 23 | 29 | 138 | 120 [M12x1.75P
AR H 20080 35 50 w | 38 | o8 | B0 | MisROP 172047
130 38 A0 | 38 | 148 | 130 | M1Sx2.0p | M12x1.75P
AR H AL DR 4% B 40 | 48 | 98 | 80 | M18x2.5P
150 4% B 40 | 48 | 188 | 150 | M18x2.5P
AR HE R0 0 130 | &3 35 | 80 | M25x2.0P
150 pls, 130 | #3 188 | 150 | M25x2.0P
NTAD ABH 15 DED 22 3z 18 | 24 | 78 | 80 | M10x1.5P
100 23 32 18 | 24 | 118 | 100 | M10x1.5P
AR H 23080 28 4% 23 | 29 | & | 80 [M12x1.75P
-120 28 4% 23 | 29 | 138 | 120 [M12x1.75P
A8 H 30080 g £0 | 38 | | 80 | Misx2.0P SR .11
130 38 &0 3 | 38 | 148 | 130 | MigR.0p | MI1Sx20P
A8 HAD-DE0 4% B0 40 | 48 | 48 | 80 | M18x2.5P
-150 4% B0 40 | 48 | 188 | 150 | M18x2.5P
AR HE-DE0 Fls, 130 | #3 | 83 | 98 | 80 | M25x2.0P
-150 700 130 | 83 | 83 | 155 | 190 | M25x2.0P
NTSDABH 15060 i3 3z 18 | 24 | 98 | 80 | M10x1.5P
100 22 32 18 | 24 | 138 | 100 [ M10x1.5P
AR H 23080 28 48 23 | 29 | 98 | AC |MI12x1.75P
S1E0 28 4% 23 | 29 | 138 | 120 [M12x1.75P
AR H 20030 35 50 | 38 | o8 | B0 | Mi1sROP
130 35 50 | 3s | 148 | 130 | Mi1sR.0P
AR H AL DR 4% A 40 | 48 | 98 | 80 | M18x2.5P o
150 4% B 40 | 48 | 186 [ 150 f MIBQSP | o S
iy 4% B 40 | 48 | 238 | 220 | M18x2.5P
AR HEZDE0 i 130 | 83 | 88 | 98 | &0 | M25x2.0P
150 70 130 | #3 | 88 | 185 [ 190 | M25x2.0P
-E30 Fls, 130 | 83 | 88 | 2458 | 230 | M25x2.0P
AR H & 0E0 50 180 | &3 | 88 | 58 | &G
-130 50 180 | &3 | 70 | 145 | 130
- 200 50 180 | &3 215 | 200

Unit; mm



Micro Bonng Holder ABH BT / NT
T ZE R 18 J1 45 series

Bonng Range
i,

Features

= ABH {Raugh or Fine) / MTA4 AHH 18- 06D 22 32 18 A0 M 1031 5P
ABH-5B {Fine) boring head -100 22 32 18 100 M1Cx1.5P
must be ordered separately. AHH 23080 28 A% 23 A0 M 1231.75P
120 28 A% 23 120 | M12x1.75P
* ABH (48 / A5¥ESE ) / AHH 30- 030 3% B0 0 A0 M 152 0P
ABH-SB NETERD SRS -130 3% H0 30 130 | M1gx2.0P
AHHAC-DE0 A% A0 AC A0 M 182 5P
150 A% A0 AG 150 | M18x2.5P
AHHE30E0 0 130 &3 A0 M25%2.0P
-150 0 130 &3 150 | M25x2.0P
MTAS ABH 15080 22 32 18 A0 b 10%1.5P
120 22 32 18 120 | MI10x1.5P
Siaik E-F:;m:l eed &8H 3080 28 48 23 B hA12x1 75P
S 120 28 4% 23 120 | M12x1.75P
A8H 30080 3% A0 EL¥) A0 b 15x2 0P
ey 3% 50 0 130 | Migx2.0P
AHHAC-DE0 A% A AG B0 M 182 5P
150 4% A AG 150 | M18x2.5P
2330 4% B AG 220 | M18x2.5P
AHHER 00 0 130 53 A0 2532 0P
150 70 130 53 150 | M25x2.0P
- 230 70 130 53 230 | M25x2.0p

AHH 23050 a0 150 a3 50

S1ap a0 150 a3 130

- 200 a0 150 a3 200
MTAE ABH 12080 22 32 18 A0 M 1031 5P
120 22 3z 18 120 | M10x1.5P
AHH 23080 28 A% 23 A0 M12x1.75P
S0 28 A% 23 120 | M12x1.75P
AHH 30080 3% A0 0 A0 M 15%2 0P
-130 3% A0 EL¥) 130 | Migx2.0P
AHHAC-DE0 A% A AG A0 M 18%2.5P
-150 A% A AG 150 | M18x2.5P
220 4% B0 A0 220 | M18x2.5P
&HH B3 080 0 130 43 A0 M25%2.0P
150 0 130 43 150 | M25x2.0P
Bl 0 130 53 230 | M25x2.0P

AHH 33080 a0 140 a3 A0

5 el a0 140 a3 130

-Z00 S0 140 a3 2030

Unit: mm



